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	1. Given the function 
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, find x when 
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  f (x) = 2










 

 

f(x)=2


	2. What is the domain of
[image: image3.emf]


  f (x) = x +5 − 6
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	3. Solve the equation
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	4. Solve the equation 
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  3x2 − 6x = 1
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	5. Shift the graph 
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  y = −4(x + 3)2 + 21
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 down 7 and left 5.  What is the equation of the new function?

	6. What is the vertex of the function 
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f (x) = x + 3( ) x −11( )
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	7. Write the equation of an absolute value graph with vertex (2, 9) and passing through         (-3, 5).

	8. Solve the equation  
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	9. A gallon of gas is $2.45.  Prices have increased by 2% each year.  Write an equation to model this situation.


	10. Solve the equation 
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  2 x + 3 + 7 = 29
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	11. Solve the equation  
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  10 2x +5 − 3= 87










 

 

102

x

+

5

-

3

=

87

  

	12.  Complete the square to put in graphing form.  
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  x
2 + 2x + y2 +14y + 30 = 0
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